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1''9 is a X1n and argues — 39951 R17 Rin K917 929

OVERVIEW

The X713 cites a X072 which disagrees with the ruling of (xn™»p) n"9. The
X7n3 answered that we cannot refute " by citing a &n*13, for 'n" has the
status of a Xin and can therefore argue (even) on a Xn»72. Previously when
the ruling of 1" was mentioned in the X773 our text reads 11"7 °1n; indicating
that " was citing a ¥n>72 (and not giving his own ruling). NM901N explains
that even this text coincides with the X713 here.

— 999Y N I8N 29 N () IP¥Y D) N
If, previously, the text read, ‘n''9 said’, it is understood why the X3 must

answer that %91 X7 X1n n'"; otherwise he would be refuted -
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But even if the text reads, 'm''9 %n', which means that 1" is citing a Xn»"3,
wherefore there is no need to say "1 Xin 1", for we cannot refute the Xn»72 of n"7 by
citing a Xn»2 which contradicts it. Nevertheless the &723 insists on saying X7 RXin 11",

The reason for this -
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One can say; is that what the X712 meant is, that even if it were not a
Xn12 which 1"7 is citing, nevertheless there would be no refutation to the
ruling of 1" since "7 is a 3991 RN,

SUMMARY

Whether we are 073 previously "7 X or 17 °1n, the X713 states here 11'"9
991 X177 RIN to inform us that even if it is not a Xn»73, nevertheless there is
no refutation of 117, since 1" is a M9 Xin.

THINKING IT OVER
Can there be a dispute concerning Xn»1n2a n"1 (regarding 72°77) whether we
are 0712 there 11" 77K or 11"'7 °1n?

' 1" was a 790 of *27. Generally it is assumed that >27 was the last of the 2°Xin and all those that followed
him are 2°X7X (who cannot dispute a 71wn or Xn*12). There are however some exceptions like 11"7 here
and 27 (see 1"¥1 2,1 PAY).

% 11" 7K, indicates that 7"9 is giving his own ruling (not reciting a Xn*2); if 7" would not be considered a
XN he could not dispute a Xn>72.
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